Subtracting with Renaming

In Focus

I have £5280 with me. (Y

After Ruby spent £3169, how much was left?
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5 thousands 2 hundreds 7 tens 10 ones
- 3Sthousands - 1 hundred - 6tens - 9ones
2 thousands 1 hundred 1 ten 1 one
5280 - 3169 = 2111
2 1 1 1
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Guided Practice

Subtract.
° (a) 8372-46= 8 3 7 2 8372
8000 300
(b) 5687 -1309 = 5 6 8 7 5687
-1 3 0 9 / / \\
5000 600
® a Find the difference between 5687 and 249. I@
5687
5 thousands 6 hundreds tens ones
The difference is
e Find the difference between 6295 and 4178. 6 2 9 5
-4 1 7 8

The difference is
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